
STANDARD COMMERCIAL KIT

C14X14
14'0" X 14'0" X 2"

7 S / 5 H
11ga Hinges, 10B STEEL Rollers

2" TRACK STANDARD LIFT CLIP STYLE Mount to STEEL

QTY UOM P/N DESCRIPTION NOTES
HARDWARE PARTS

1 PR 2-15-1 5-18 DRUM
1 PR 3-3-1 #8 EBF 8GA  W/BRG 4-3/8" STEEL
1 EA 3-12-1 NCB 4-3/8 CENTER SUPPORT 8GA W/BRG
2 EA 3-28-1 COMMERCIAL TOP BRACKET
1 PR 3-41-2 BB-120 NOTCHED
2 EA 7-23-1 CLOSED GRIP LIFT HANDLE
2 EA 7-25-2 VERTICAL STEP PLATE

16 EA 4-11-3 2" LONG STEM 10 BALL ROLLER
20 EA 3-20-1 #1 11 GA HINGE
2 EA 3-20-2 #2 11 GA HINGE
2 EA 3-20-3 #3 11 GA HINGE
2 EA 3-20-4 #4 11 GA HINGE
2 EA 3-20-5 #5 11 GA HINGE
2 EA 3-20-6 #6 11 GA HINGE
1 PR 4-7-6 5/32 7 X 19 X 15'8" (14')
1 EA 7-1-1 COMMERCIAL UNILOCK
9 FT 9-12-1 PULL ROPE
1 EA 9-30-4 LABEL#1 - SPRING IS LOADED
1 EA 9-30-5 LABELS #2 STD BCK & #3 UDR TSN 

FASTENERS
140 EA 8-2-3 1/4 X 1 TEK

8 EA 8-2-31 1/4 X 1 TEK PAINTED RED
4 EA 8-2-7 1/4 X 5/8 RIBBED NECK TRACK BOLT
4 EA 8-2-10 1/4 WHIZ NUT

22 EA 8-3-19 5/16 X 1 TEK
2 EA 8-3-26 5/16 X 1 TEK PAINTED RED
2 EA 8-3-16 5/16 X 7/8 CLEVIS PIN
2 EA 8-4-1 3/8 X 1-1/2 HH MACHINE BOLT
6 EA 8-4-2 3/8 X 3/4 RH CARRIAGE BOLT
8 EA 8-4-4 3/8 WHIZ NUT
1 EA 8-8-1 #6 SCREW EYE
2 EA 8-5-1 3/32 X 1 COTTER PIN

*Standard Package Quantity

STANDARD KITS-181119.xlsm

Toll free: 800-338-5399
Phone: 419-445-1010

Fax: 419-446-2616 1 of 1


